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Water flows at a velocity of 10 m/s through the return elbow shown in the figure below. The
pipe has an internal diameter of 0.10 m. The gauge pressures at points 1 and 2 are 3.0 and 2.5
bar, respectively. Calculate the horizontal force F needed to keep the retrn elbow in position.
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The figure below shows a reducing elbow located in a horizontal plane. Water flows through
the elbow at an inlet velocity #; of 10 m/s. The inlet pressure p; is 3.0 bar and the diameters
D; and D; are 20 and 10 cm. Calculate the forces Fy and F), required to hold the elbow in

position.
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